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31.2.4

16a (7 mwp) 2 17a (3177 manws K5 )

note: our first 13wn here uses the phrase 5r13 jN¥ (27%); it refers to an arrangement whereby the owner of animals gives them to a herdsman
at an agreed-upon value and after, say, 10 years, that value is returned — and the offspring are included
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I 7 mwn:if aJew accepts a non-Jew’s flock as 1”¥
a  then: the offspring are exempt from n1231, but not the next generation
i implication: 2"% is considered the property of the (original) owner, since he didn’t yet get paid
ii  challenge: X111 — we may not accept 2”% from Jew as the payment of young is considered naa (2in Yapn nmwM)
1 answerl (»7ax): our mwn is a case where owner accepted loss and depreciation; kn»71 — where he didn’t
(a) challenge (x27): if he accepts depreciation and loss, this isn’t considered 512 jrx
(i) furthermore: why interpret two different agreements to same wording?
(ii) furthermore: mwn should have specified — this is only true if he accepted...
2 answer2 (827): both cases are “normal” 2”¥; but in our case, since non-Jew has rights to collect from young
(a) therefore: since " T is in the “middle” — exempt from N2
b  if: he put the offspring in lieu of the original animals (for collection), one more generation is exempt
i dispute X1 "m0 27 in first case (without “in lieu”) - which generation is 27n (0=2"%; 1 — offspring etc.)
1 ~2777 27. 1 is exempt, 2 is 27N
2 jamiv a7 2is also exempt, 3 is 27N
(a) Challenge: only if he put #1 in lieu of #0 does exemption o to #2->else, #2 is 27n
(i) Defense: in any case, #2 is exempt; “in lieu” teaches that even in that case, where the non-Jew may
take the offspring, only #2 is exempt, not #3
(b) Challenge: 32w (below) using “10”
(i) Ami? 375 it works — he claims that p"n uses exact generations - that’s why 3"aw1 uses a number
(if) ~217 275 who feels p"n is inexact, why would 3”2w1 use exact numbers?
1. Answer: 3”291 is responding to “in lieu”, where p”n used exact numbers of generations
(c) Challenge: Xn2 - if one receives 2% from », offspring are exempt, their offspring are 27n
(i) Answer (for 771777 37): read “they and offspring” (1109) and “their offspring’s offspring” (2’n)
(d) Altnerate version: 1709 11PMTIN YTON, PPN MTN 1T 1N
(i) Answer (for ¥17 27): read PV MTYN 10, but parn mIn 15
¢ dissent; 32w - exempt “until 10 generations” (forever), as the owner may seize any of them
II  nmwn:if a ewe birthed something looking like a goat — or vice-versa — exempt from n22
a  however: if it had some similarity to the mother — 171321 na»n
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I xyvIR "1’s Rn12 — (which he brought from »R); if a ewe bore a goat or vice-versa, n™ finds 2n; onon exempt
a  Analysis: n21 was told to ask 817 27 what is the 2vn that n”1 asssses here —
Cannot be: "33, as he surely accepts v. 1, requiring 7132 to look like mother
Cannot be: 1an WK, as, per v. 2, if the wool is hard (sheep with goat-like wool) — 1108
Answer: must be whether we are concerned with father’s identity (and father is a goat) and if 2% MR W
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1

Challenge: if so, let them align with 13229/m31n (whether 2" applies to father)

Rather: they are disagreeing about n1131

1

Case: lamb, mother was a ewe but mother’s mother was a goat

(a) »7r follow mother — 17131 looks like mother »>arn

(b) o2narr: follow mother’s mother — n7131 doesn’t look like “grandmother” 109
Or case: lamb, mother was goat, her mother was ewe

(a) »7r “lambness” has been restored - 17n

(b) o2pom “lambness” has not been restored - exempt

swx 1. the case is where the 7191 has some similarity to mother

(a) And:”onon”here is v™, who requries 1217 YW1 to be similar for n7131 avn

b Caveats: areas where n™ requires pure " lamb or goat
pr 77 goat of "1 must be “pure” — per "mr” (v. 3)
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Challenge: this is inferred from "y” in v. 4 — which excludes nnT
(a) Defense: v. 4 alone would have applied only when earlier generations didn’t look like index
(b) And:v.3 alone would have only excluded nnT from namn 127p; v. 4 extends to na1 M

37y 92 N8 ’7. all agree that there are no mian for wearing a mix of flax and this one’s wool

1

source: v. 5 — just as mnwa is consistent, so too ¥ must be the same as its mother’s

~99 77 all agree that the nnT)’s wool is 5104 for nYon

1

Source: v. 5 is juxtaposed to v. 6 — 1MOR of 1VYW tied to NYOn mixn

2ny2 92 ppn ’7. all agree that the nnTa’s wool isn’t vulnerable to 12 '3 nrML

1

Source: v. 7 compares 1nx:DNVYY; as above

swN 77 (attempted extension): if he put a vine over a fig tree, the wine from that vine is D»>01% %109

1

Source: v. 8 compares 0’301 to nar; just as a nar must be “unchanged” (from mother, as above)

(a) So too: the n»av1 must be unchanged

Challenge (81227): if so, why not say that if he moved the flax to grow over a thorny bush — that’s a "»w and
it’s no longer “nwa”; and therefore, the premise that Dnwa never changes is lost?

Defense (»wx "): in the case of the vine, the smell of the grapes changed; the thornbush doesn’t affect the
smell of the flax
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